

①

$$\begin{array}{r} 81 \\ 12 \overline{) 976} \\ \underline{96} \phantom{0} \\ 16 \\ \underline{12} \\ 4 \end{array}$$

②

$$\begin{array}{r} 7 \\ 88 \overline{) 680} \\ \underline{616} \phantom{0} \\ 64 \end{array}$$

③

$$\begin{array}{r} 6 \\ 32 \overline{) 193} \\ \underline{192} \\ 1 \end{array}$$

④

$$\begin{array}{r} 16 \\ 16 \overline{) 256} \\ \underline{16} \phantom{0} \\ 96 \\ \underline{96} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 16 \\ 33 \overline{) 528} \\ \underline{33} \phantom{0} \\ 198 \\ \underline{198} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 33 \\ 14 \overline{) 464} \\ \underline{42} \phantom{0} \\ 44 \\ \underline{42} \\ 2 \end{array}$$

⑦

$$\begin{array}{r} 20 \\ 11 \overline{) 222} \\ \underline{22} \phantom{0} \\ 2 \end{array}$$

⑧

$$\begin{array}{r} 24 \\ 12 \overline{) 298} \\ \underline{24} \phantom{0} \\ 58 \\ \underline{48} \\ 10 \end{array}$$

⑨

$$\begin{array}{r} 2 \\ 56 \overline{) 167} \\ \underline{112} \\ 55 \end{array}$$

①

$$\begin{array}{r} 10 \\ 24 \overline{) 257} \\ \underline{24} \phantom{0} \\ 17 \end{array}$$

②

$$\begin{array}{r} 40 \\ 15 \overline{) 609} \\ \underline{60} \phantom{0} \\ 9 \end{array}$$

③

$$\begin{array}{r} 44 \\ 19 \overline{) 852} \\ \underline{76} \phantom{0} \\ 92 \\ \underline{76} \phantom{0} \\ 16 \end{array}$$

④

$$\begin{array}{r} 11 \\ 18 \overline{) 210} \\ \underline{18} \phantom{0} \\ 30 \\ \underline{18} \phantom{0} \\ 12 \end{array}$$

⑤

$$\begin{array}{r} 63 \\ 13 \overline{) 819} \\ \underline{78} \phantom{0} \\ 39 \\ \underline{39} \phantom{0} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 40 \\ 21 \overline{) 846} \\ \underline{84} \phantom{0} \\ 6 \end{array}$$

⑦

$$\begin{array}{r} 15 \\ 33 \overline{) 514} \\ \underline{33} \phantom{0} \\ 184 \\ \underline{165} \phantom{0} \\ 19 \end{array}$$

⑧

$$\begin{array}{r} 16 \\ 14 \overline{) 236} \\ \underline{14} \phantom{0} \\ 96 \\ \underline{84} \phantom{0} \\ 12 \end{array}$$

⑨

$$\begin{array}{r} 41 \\ 19 \overline{) 790} \\ \underline{76} \phantom{0} \\ 30 \\ \underline{19} \phantom{0} \\ 11 \end{array}$$

①

$$\begin{array}{r} 27 \\ 26 \overline{) 720} \\ \underline{52} \\ 200 \\ \underline{182} \\ 18 \end{array}$$

②

$$\begin{array}{r} 14 \\ 39 \overline{) 546} \\ \underline{39} \\ 156 \\ \underline{156} \\ 0 \end{array}$$

③

$$\begin{array}{r} 5 \\ 21 \overline{) 106} \\ \underline{105} \\ 1 \end{array}$$

④

$$\begin{array}{r} 28 \\ 30 \overline{) 840} \\ \underline{60} \\ 240 \\ \underline{240} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 7 \\ 31 \overline{) 231} \\ \underline{217} \\ 14 \end{array}$$

⑥

$$\begin{array}{r} 14 \\ 25 \overline{) 373} \\ \underline{25} \\ 123 \\ \underline{100} \\ 23 \end{array}$$

⑦

$$\begin{array}{r} 5 \\ 40 \overline{) 219} \\ \underline{200} \\ 19 \end{array}$$

⑧

$$\begin{array}{r} 16 \\ 21 \overline{) 336} \\ \underline{21} \\ 126 \\ \underline{126} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 57 \\ 12 \overline{) 691} \\ \underline{60} \\ 91 \\ \underline{84} \\ 7 \end{array}$$

①

$$\begin{array}{r} 5 \\ 43 \overline{) 252} \\ \underline{215} \\ 37 \end{array}$$

②

$$\begin{array}{r} 10 \\ 15 \overline{) 153} \\ \underline{15} \\ 3 \end{array}$$

③

$$\begin{array}{r} 29 \\ 25 \overline{) 725} \\ \underline{50} \\ 225 \\ \underline{225} \\ 0 \end{array}$$

④

$$\begin{array}{r} 32 \\ 15 \overline{) 486} \\ \underline{45} \\ 36 \\ \underline{30} \\ 6 \end{array}$$

⑤

$$\begin{array}{r} 23 \\ 13 \overline{) 299} \\ \underline{26} \\ 39 \\ \underline{39} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 16 \\ 36 \overline{) 576} \\ \underline{36} \\ 216 \\ \underline{216} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 62 \\ 14 \overline{) 871} \\ \underline{84} \\ 31 \\ \underline{28} \\ 3 \end{array}$$

⑧

$$\begin{array}{r} 6 \\ 94 \overline{) 620} \\ \underline{564} \\ 56 \end{array}$$

⑨

$$\begin{array}{r} 65 \\ 12 \overline{) 780} \\ \underline{72} \\ 60 \\ \underline{60} \\ 0 \end{array}$$

①

$$\begin{array}{r} 20 \\ 19 \overline{) 397} \\ \underline{38} \\ 17 \end{array}$$

②

$$\begin{array}{r} 22 \\ 19 \overline{) 418} \\ \underline{38} \\ 38 \\ \underline{38} \\ 0 \end{array}$$

③

$$\begin{array}{r} 4 \\ 36 \overline{) 152} \\ \underline{144} \\ 8 \end{array}$$

④

$$\begin{array}{r} 40 \\ 11 \overline{) 448} \\ \underline{44} \\ 8 \end{array}$$

⑤

$$\begin{array}{r} 21 \\ 34 \overline{) 718} \\ \underline{68} \\ 38 \\ \underline{34} \\ 4 \end{array}$$

⑥

$$\begin{array}{r} 40 \\ 17 \overline{) 689} \\ \underline{68} \\ 9 \end{array}$$

⑦

$$\begin{array}{r} 30 \\ 15 \overline{) 451} \\ \underline{45} \\ 1 \end{array}$$

⑧

$$\begin{array}{r} 8 \\ 86 \overline{) 754} \\ \underline{688} \\ 66 \end{array}$$

⑨

$$\begin{array}{r} 20 \\ 18 \overline{) 361} \\ \underline{36} \\ 1 \end{array}$$

①

$$\begin{array}{r} 23 \\ 23 \overline{) 529} \\ \underline{46} \phantom{0} \\ 69 \\ \underline{69} \\ 0 \end{array}$$

②

$$\begin{array}{r} 8 \\ 57 \overline{) 458} \\ \underline{456} \\ 2 \end{array}$$

③

$$\begin{array}{r} 70 \\ 14 \overline{) 988} \\ \underline{98} \phantom{0} \\ 8 \end{array}$$

④

$$\begin{array}{r} 7 \\ 60 \overline{) 460} \\ \underline{420} \\ 40 \end{array}$$

⑤

$$\begin{array}{r} 6 \\ 92 \overline{) 575} \\ \underline{552} \\ 23 \end{array}$$

⑥

$$\begin{array}{r} 35 \\ 12 \overline{) 420} \\ \underline{36} \phantom{0} \\ 60 \\ \underline{60} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 8 \\ 38 \overline{) 312} \\ \underline{304} \\ 8 \end{array}$$

⑧

$$\begin{array}{r} 23 \\ 19 \overline{) 453} \\ \underline{38} \phantom{0} \\ 73 \\ \underline{57} \\ 16 \end{array}$$

⑨

$$\begin{array}{r} 8 \\ 56 \overline{) 471} \\ \underline{448} \\ 23 \end{array}$$

①

$$\begin{array}{r} 5 \\ 69 \overline{) 394} \\ \underline{345} \\ 49 \end{array}$$

②

$$\begin{array}{r} 30 \\ 21 \overline{) 641} \\ \underline{63} \\ 11 \end{array}$$

③

$$\begin{array}{r} 5 \\ 98 \overline{) 559} \\ \underline{490} \\ 69 \end{array}$$

④

$$\begin{array}{r} 10 \\ 13 \overline{) 141} \\ \underline{13} \\ 11 \end{array}$$

⑤

$$\begin{array}{r} 72 \\ 12 \overline{) 865} \\ \underline{84} \\ 25 \\ \underline{24} \\ 1 \end{array}$$

⑥

$$\begin{array}{r} 6 \\ 66 \overline{) 432} \\ \underline{396} \\ 36 \end{array}$$

⑦

$$\begin{array}{r} 20 \\ 22 \overline{) 458} \\ \underline{44} \\ 18 \end{array}$$

⑧

$$\begin{array}{r} 33 \\ 19 \overline{) 638} \\ \underline{57} \\ 68 \\ \underline{57} \\ 11 \end{array}$$

⑨

$$\begin{array}{r} 8 \\ 31 \overline{) 274} \\ \underline{248} \\ 26 \end{array}$$

①

$$\begin{array}{r} 65 \overline{) 398} \\ \underline{390} \\ 8 \end{array}$$

②

$$\begin{array}{r} 13 \overline{) 266} \\ \underline{26} \\ 6 \end{array}$$

③

$$\begin{array}{r} 28 \overline{) 660} \\ \underline{56} \\ 100 \\ \underline{84} \\ 16 \end{array}$$

④

$$\begin{array}{r} 17 \overline{) 221} \\ \underline{17} \\ 51 \\ \underline{51} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 39 \overline{) 858} \\ \underline{78} \\ 78 \\ \underline{78} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 11 \overline{) 337} \\ \underline{33} \\ 7 \end{array}$$

⑦

$$\begin{array}{r} 31 \overline{) 648} \\ \underline{62} \\ 28 \end{array}$$

⑧

$$\begin{array}{r} 45 \overline{) 821} \\ \underline{45} \\ 371 \\ \underline{360} \\ 11 \end{array}$$

⑨

$$\begin{array}{r} 15 \overline{) 761} \\ \underline{75} \\ 11 \end{array}$$

①

$$\begin{array}{r} 19 \\ 28 \overline{) 532} \\ \underline{28} \\ 252 \\ \underline{252} \\ 0 \end{array}$$

②

$$\begin{array}{r} 15 \\ 25 \overline{) 377} \\ \underline{25} \\ 127 \\ \underline{125} \\ 2 \end{array}$$

③

$$\begin{array}{r} 71 \\ 13 \overline{) 926} \\ \underline{91} \\ 16 \\ \underline{13} \\ 3 \end{array}$$

④

$$\begin{array}{r} 20 \\ 23 \overline{) 464} \\ \underline{46} \\ 4 \end{array}$$

⑤

$$\begin{array}{r} 5 \\ 20 \overline{) 113} \\ \underline{100} \\ 13 \end{array}$$

⑥

$$\begin{array}{r} 41 \\ 24 \overline{) 984} \\ \underline{96} \\ 24 \\ \underline{24} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 30 \\ 12 \overline{) 371} \\ \underline{36} \\ 11 \end{array}$$

⑧

$$\begin{array}{r} 24 \\ 22 \overline{) 545} \\ \underline{44} \\ 105 \\ \underline{88} \\ 17 \end{array}$$

⑨

$$\begin{array}{r} 4 \\ 58 \overline{) 283} \\ \underline{232} \\ 51 \end{array}$$

①

$$\begin{array}{r} 50 \\ 18 \overline{) 913} \\ \underline{90} \\ 13 \end{array}$$

②

$$\begin{array}{r} 20 \\ 29 \overline{) 600} \\ \underline{58} \\ 20 \end{array}$$

③

$$\begin{array}{r} 15 \\ 46 \overline{) 690} \\ \underline{46} \\ 230 \\ \underline{230} \\ 0 \end{array}$$

④

$$\begin{array}{r} 30 \\ 16 \overline{) 481} \\ \underline{48} \\ 1 \end{array}$$

⑤

$$\begin{array}{r} 70 \\ 13 \overline{) 919} \\ \underline{91} \\ 9 \end{array}$$

⑥

$$\begin{array}{r} 25 \\ 37 \overline{) 946} \\ \underline{74} \\ 206 \\ \underline{185} \\ 21 \end{array}$$

⑦

$$\begin{array}{r} 30 \\ 27 \overline{) 834} \\ \underline{81} \\ 24 \end{array}$$

⑧

$$\begin{array}{r} 39 \\ 17 \overline{) 674} \\ \underline{51} \\ 164 \\ \underline{153} \\ 11 \end{array}$$

⑨

$$\begin{array}{r} 10 \\ 24 \overline{) 253} \\ \underline{24} \\ 13 \end{array}$$

①

$$\begin{array}{r} 4 \\ 53 \overline{) 214} \\ \underline{212} \\ 2 \end{array}$$

②

$$\begin{array}{r} 21 \\ 18 \overline{) 378} \\ \underline{36} \\ 18 \\ \underline{18} \\ 0 \end{array}$$

③

$$\begin{array}{r} 3 \\ 64 \overline{) 196} \\ \underline{192} \\ 4 \end{array}$$

④

$$\begin{array}{r} 5 \\ 67 \overline{) 389} \\ \underline{335} \\ 54 \end{array}$$

⑤

$$\begin{array}{r} 13 \\ 33 \overline{) 429} \\ \underline{33} \\ 99 \\ \underline{99} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 8 \\ 12 \overline{) 106} \\ \underline{96} \\ 10 \end{array}$$

⑦

$$\begin{array}{r} 44 \\ 11 \overline{) 484} \\ \underline{44} \\ 44 \\ \underline{44} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 67 \\ 14 \overline{) 938} \\ \underline{84} \\ 98 \\ \underline{98} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 7 \\ 70 \overline{) 555} \\ \underline{490} \\ 65 \end{array}$$

①

$$\begin{array}{r} 30 \\ 20 \overline{) 613} \\ \underline{60} \\ 13 \end{array}$$

②

$$\begin{array}{r} 8 \\ 99 \overline{) 882} \\ \underline{792} \\ 90 \end{array}$$

③

$$\begin{array}{r} 16 \\ 19 \overline{) 306} \\ \underline{19} \\ 116 \\ \underline{114} \\ 2 \end{array}$$

④

$$\begin{array}{r} 5 \\ 48 \overline{) 257} \\ \underline{240} \\ 17 \end{array}$$

⑤

$$\begin{array}{r} 37 \\ 12 \overline{) 445} \\ \underline{36} \\ 85 \\ \underline{84} \\ 1 \end{array}$$

⑥

$$\begin{array}{r} 10 \\ 45 \overline{) 471} \\ \underline{45} \\ 21 \end{array}$$

⑦

$$\begin{array}{r} 12 \\ 41 \overline{) 492} \\ \underline{41} \\ 82 \\ \underline{82} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 58 \\ 15 \overline{) 883} \\ \underline{75} \\ 133 \\ \underline{120} \\ 13 \end{array}$$

⑨

$$\begin{array}{r} 6 \\ 30 \overline{) 207} \\ \underline{180} \\ 27 \end{array}$$

①

$$\begin{array}{r} 9 \\ 56 \overline{) 527} \\ \underline{504} \\ 23 \end{array}$$

②

$$\begin{array}{r} 25 \\ 21 \overline{) 533} \\ \underline{42} \\ 113 \\ \underline{105} \\ 8 \end{array}$$

③

$$\begin{array}{r} 70 \\ 11 \overline{) 780} \\ \underline{77} \\ 10 \end{array}$$

④

$$\begin{array}{r} 15 \\ 20 \overline{) 319} \\ \underline{20} \\ 119 \\ \underline{100} \\ 19 \end{array}$$

⑤

$$\begin{array}{r} 20 \\ 25 \overline{) 519} \\ \underline{50} \\ 19 \end{array}$$

⑥

$$\begin{array}{r} 40 \\ 13 \overline{) 529} \\ \underline{52} \\ 9 \end{array}$$

⑦

$$\begin{array}{r} 7 \\ 80 \overline{) 606} \\ \underline{560} \\ 46 \end{array}$$

⑧

$$\begin{array}{r} 16 \\ 46 \overline{) 736} \\ \underline{46} \\ 276 \\ \underline{276} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 32 \\ 24 \overline{) 768} \\ \underline{72} \\ 48 \\ \underline{48} \\ 0 \end{array}$$

①

$$\begin{array}{r} 21 \\ 31 \overline{)651} \\ \underline{62} \\ 31 \\ \underline{31} \\ 0 \end{array}$$

②

$$\begin{array}{r} 12 \\ 32 \overline{)385} \\ \underline{32} \\ 65 \\ \underline{64} \\ 1 \end{array}$$

③

$$\begin{array}{r} 3 \\ 72 \overline{)265} \\ \underline{216} \\ 49 \end{array}$$

④

$$\begin{array}{r} 61 \\ 12 \overline{)732} \\ \underline{72} \\ 12 \\ \underline{12} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 22 \\ 11 \overline{)242} \\ \underline{22} \\ 22 \\ \underline{22} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 40 \\ 20 \overline{)803} \\ \underline{80} \\ 3 \end{array}$$

⑦

$$\begin{array}{r} 28 \\ 24 \overline{)675} \\ \underline{48} \\ 195 \\ \underline{192} \\ 3 \end{array}$$

⑧

$$\begin{array}{r} 11 \\ 30 \overline{)352} \\ \underline{30} \\ 52 \\ \underline{30} \\ 22 \end{array}$$

⑨

$$\begin{array}{r} 60 \\ 11 \overline{)663} \\ \underline{66} \\ 3 \end{array}$$

①

$$\begin{array}{r} 10 \\ 37 \overline{) 390} \\ \underline{37} \phantom{0} \\ 20 \end{array}$$

②

$$\begin{array}{r} 20 \\ 11 \overline{) 226} \\ \underline{22} \phantom{0} \\ 6 \end{array}$$

③

$$\begin{array}{r} 32 \\ 25 \overline{) 800} \\ \underline{75} \phantom{0} \\ 50 \\ \underline{50} \\ 0 \end{array}$$

④

$$\begin{array}{r} 50 \\ 16 \overline{) 813} \\ \underline{80} \phantom{0} \\ 13 \end{array}$$

⑤

$$\begin{array}{r} 42 \\ 11 \overline{) 470} \\ \underline{44} \phantom{0} \\ 30 \\ \underline{22} \\ 8 \end{array}$$

⑥

$$\begin{array}{r} 3 \\ 33 \overline{) 117} \\ \underline{99} \\ 18 \end{array}$$

⑦

$$\begin{array}{r} 47 \\ 19 \overline{) 902} \\ \underline{76} \phantom{0} \\ 142 \\ \underline{133} \\ 9 \end{array}$$

⑧

$$\begin{array}{r} 21 \\ 20 \overline{) 431} \\ \underline{40} \phantom{0} \\ 31 \\ \underline{20} \\ 11 \end{array}$$

⑨

$$\begin{array}{r} 6 \\ 84 \overline{) 533} \\ \underline{504} \\ 29 \end{array}$$

①

$$\begin{array}{r} 50 \\ 14 \overline{) 703} \\ \underline{70} \phantom{0} \\ 3 \phantom{0} \end{array}$$

②

$$\begin{array}{r} 8 \\ 41 \overline{) 361} \\ \underline{328} \\ 33 \end{array}$$

③

$$\begin{array}{r} 8 \\ 27 \overline{) 229} \\ \underline{216} \\ 13 \end{array}$$

④

$$\begin{array}{r} 21 \\ 13 \overline{) 285} \\ \underline{26} \phantom{0} \\ 25 \\ \underline{13} \\ 12 \end{array}$$

⑤

$$\begin{array}{r} 63 \\ 13 \overline{) 821} \\ \underline{78} \phantom{0} \\ 41 \\ \underline{39} \\ 2 \end{array}$$

⑥

$$\begin{array}{r} 9 \\ 29 \overline{) 279} \\ \underline{261} \\ 18 \end{array}$$

⑦

$$\begin{array}{r} 8 \\ 84 \overline{) 724} \\ \underline{672} \\ 52 \end{array}$$

⑧

$$\begin{array}{r} 4 \\ 71 \overline{) 320} \\ \underline{284} \\ 36 \end{array}$$

⑨

$$\begin{array}{r} 3 \\ 89 \overline{) 348} \\ \underline{267} \\ 81 \end{array}$$

①

$$\begin{array}{r} 75 \\ 13 \overline{) 975} \\ \underline{91} \phantom{0} \\ 65 \\ \underline{65} \\ 0 \end{array}$$

②

$$\begin{array}{r} 20 \\ 11 \overline{) 221} \\ \underline{22} \phantom{0} \\ 1 \phantom{0} \end{array}$$

③

$$\begin{array}{r} 37 \\ 21 \overline{) 797} \\ \underline{63} \phantom{0} \\ 167 \\ \underline{147} \\ 20 \end{array}$$

④

$$\begin{array}{r} 17 \\ 30 \overline{) 535} \\ \underline{30} \phantom{0} \\ 235 \\ \underline{210} \\ 25 \end{array}$$

⑤

$$\begin{array}{r} 12 \\ 22 \overline{) 264} \\ \underline{22} \phantom{0} \\ 44 \\ \underline{44} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 8 \\ 63 \overline{) 535} \\ \underline{504} \\ 31 \end{array}$$

⑦

$$\begin{array}{r} 9 \\ 31 \overline{) 301} \\ \underline{279} \\ 22 \end{array}$$

⑧

$$\begin{array}{r} 16 \\ 41 \overline{) 670} \\ \underline{41} \phantom{0} \\ 260 \\ \underline{246} \\ 14 \end{array}$$

⑨

$$\begin{array}{r} 90 \\ 11 \overline{) 994} \\ \underline{99} \phantom{0} \\ 4 \end{array}$$

①

$$\begin{array}{r} 10 \\ 31 \overline{) 320} \\ \underline{31} \phantom{0} \\ 10 \end{array}$$

②

$$\begin{array}{r} 61 \\ 15 \overline{) 920} \\ \underline{90} \phantom{0} \\ 20 \\ \underline{15} \phantom{0} \\ 5 \end{array}$$

③

$$\begin{array}{r} 60 \\ 12 \overline{) 725} \\ \underline{72} \phantom{0} \\ 5 \end{array}$$

④

$$\begin{array}{r} 35 \\ 16 \overline{) 560} \\ \underline{48} \phantom{0} \\ 80 \\ \underline{80} \phantom{0} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 49 \\ 14 \overline{) 686} \\ \underline{56} \phantom{0} \\ 126 \\ \underline{126} \phantom{0} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 32 \\ 12 \overline{) 384} \\ \underline{36} \phantom{0} \\ 24 \\ \underline{24} \phantom{0} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 10 \\ 38 \overline{) 394} \\ \underline{38} \phantom{0} \\ 14 \end{array}$$

⑧

$$\begin{array}{r} 6 \\ 52 \overline{) 347} \\ \underline{312} \phantom{0} \\ 35 \end{array}$$

⑨

$$\begin{array}{r} 35 \\ 19 \overline{) 666} \\ \underline{57} \phantom{0} \\ 96 \\ \underline{95} \phantom{0} \\ 1 \end{array}$$

①

$$\begin{array}{r} 3 \\ 32 \overline{) 115} \\ \underline{96} \\ 19 \end{array}$$

②

$$\begin{array}{r} 17 \\ 41 \overline{) 706} \\ \underline{41} \\ 296 \\ \underline{287} \\ 9 \end{array}$$

③

$$\begin{array}{r} 84 \\ 11 \overline{) 924} \\ \underline{88} \\ 44 \\ \underline{44} \\ 0 \end{array}$$

④

$$\begin{array}{r} 60 \\ 16 \overline{) 971} \\ \underline{96} \\ 11 \end{array}$$

⑤

$$\begin{array}{r} 18 \\ 12 \overline{) 216} \\ \underline{12} \\ 96 \\ \underline{96} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 22 \\ 32 \overline{) 704} \\ \underline{64} \\ 64 \\ \underline{64} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 49 \\ 18 \overline{) 882} \\ \underline{72} \\ 162 \\ \underline{162} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 11 \\ 21 \overline{) 231} \\ \underline{21} \\ 21 \\ \underline{21} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 31 \\ 27 \overline{) 842} \\ \underline{81} \\ 32 \\ \underline{27} \\ 5 \end{array}$$

①

$$\begin{array}{r} 14 \\ 21 \overline{) 294} \\ \underline{21} \phantom{0} \\ 84 \\ \underline{84} \\ 0 \end{array}$$

②

$$\begin{array}{r} 44 \\ 11 \overline{) 489} \\ \underline{44} \phantom{0} \\ 49 \\ \underline{44} \\ 5 \end{array}$$

③

$$\begin{array}{r} 10 \\ 47 \overline{) 485} \\ \underline{47} \phantom{0} \\ 15 \end{array}$$

④

$$\begin{array}{r} 3 \\ 75 \overline{) 237} \\ \underline{225} \\ 12 \end{array}$$

⑤

$$\begin{array}{r} 3 \\ 78 \overline{) 247} \\ \underline{234} \\ 13 \end{array}$$

⑥

$$\begin{array}{r} 22 \\ 16 \overline{) 354} \\ \underline{32} \phantom{0} \\ 34 \\ \underline{32} \\ 2 \end{array}$$

⑦

$$\begin{array}{r} 10 \\ 31 \overline{) 316} \\ \underline{31} \phantom{0} \\ 6 \end{array}$$

⑧

$$\begin{array}{r} 31 \\ 26 \overline{) 806} \\ \underline{78} \phantom{0} \\ 26 \\ \underline{26} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 18 \\ 18 \overline{) 324} \\ \underline{18} \phantom{0} \\ 144 \\ \underline{144} \\ 0 \end{array}$$

①

$$\begin{array}{r} 39 \\ 25 \overline{) 994} \\ \underline{75} \\ 244 \\ \underline{225} \\ 19 \end{array}$$

②

$$\begin{array}{r} 30 \\ 13 \overline{) 393} \\ \underline{39} \\ 3 \end{array}$$

③

$$\begin{array}{r} 11 \\ 43 \overline{) 482} \\ \underline{43} \\ 52 \\ \underline{43} \\ 9 \end{array}$$

④

$$\begin{array}{r} 21 \\ 26 \overline{) 546} \\ \underline{52} \\ 26 \\ \underline{26} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 10 \\ 33 \overline{) 337} \\ \underline{33} \\ 7 \end{array}$$

⑥

$$\begin{array}{r} 22 \\ 18 \overline{) 399} \\ \underline{36} \\ 39 \\ \underline{36} \\ 3 \end{array}$$

⑦

$$\begin{array}{r} 20 \\ 48 \overline{) 984} \\ \underline{96} \\ 24 \end{array}$$

⑧

$$\begin{array}{r} 18 \\ 41 \overline{) 778} \\ \underline{41} \\ 368 \\ \underline{328} \\ 40 \end{array}$$

⑨

$$\begin{array}{r} 31 \\ 30 \overline{) 955} \\ \underline{90} \\ 55 \\ \underline{30} \\ 25 \end{array}$$

①

$$\begin{array}{r} 70 \\ 13 \overline{) 914} \\ \underline{91} \phantom{0} \\ 4 \phantom{0} \end{array}$$

②

$$\begin{array}{r} 40 \\ 19 \overline{) 776} \\ \underline{76} \phantom{0} \\ 16 \phantom{0} \end{array}$$

③

$$\begin{array}{r} 10 \\ 33 \overline{) 344} \\ \underline{33} \phantom{0} \\ 14 \phantom{0} \end{array}$$

④

$$\begin{array}{r} 30 \\ 28 \overline{) 848} \\ \underline{84} \phantom{0} \\ 8 \phantom{0} \end{array}$$

⑤

$$\begin{array}{r} 80 \\ 12 \overline{) 963} \\ \underline{96} \phantom{0} \\ 3 \phantom{0} \end{array}$$

⑥

$$\begin{array}{r} 51 \\ 15 \overline{) 765} \\ \underline{75} \phantom{0} \\ 15 \\ \underline{15} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 21 \\ 14 \overline{) 302} \\ \underline{28} \phantom{0} \\ 22 \\ \underline{22} \phantom{0} \\ 14 \\ \underline{14} \\ 8 \phantom{0} \end{array}$$

⑧

$$\begin{array}{r} 8 \\ 45 \overline{) 363} \\ \underline{360} \phantom{0} \\ 3 \phantom{0} \end{array}$$

⑨

$$\begin{array}{r} 30 \\ 14 \overline{) 428} \\ \underline{42} \phantom{0} \\ 8 \phantom{0} \end{array}$$

①

$$\begin{array}{r} 65 \\ 12 \overline{) 785} \\ \underline{72} \phantom{0} \\ 65 \\ \underline{60} \\ 5 \end{array}$$

②

$$\begin{array}{r} 42 \\ 23 \overline{) 980} \\ \underline{92} \phantom{0} \\ 60 \\ \underline{46} \\ 14 \end{array}$$

③

$$\begin{array}{r} 4 \\ 73 \overline{) 328} \\ \underline{292} \\ 36 \end{array}$$

④

$$\begin{array}{r} 31 \\ 24 \overline{) 767} \\ \underline{72} \phantom{0} \\ 47 \\ \underline{24} \\ 23 \end{array}$$

⑤

$$\begin{array}{r} 20 \\ 39 \overline{) 812} \\ \underline{78} \phantom{0} \\ 32 \end{array}$$

⑥

$$\begin{array}{r} 46 \\ 17 \overline{) 789} \\ \underline{68} \phantom{0} \\ 109 \\ \underline{102} \\ 7 \end{array}$$

⑦

$$\begin{array}{r} 7 \\ 85 \overline{) 602} \\ \underline{595} \\ 7 \end{array}$$

⑧

$$\begin{array}{r} 16 \\ 40 \overline{) 640} \\ \underline{40} \phantom{0} \\ 240 \\ \underline{240} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 13 \\ 32 \overline{) 431} \\ \underline{32} \phantom{0} \\ 111 \\ \underline{96} \\ 15 \end{array}$$

①

$$\begin{array}{r} 34 \\ 23 \overline{) 798} \\ \underline{69} \\ 108 \\ \underline{92} \\ 16 \end{array}$$

②

$$\begin{array}{r} 53 \\ 15 \overline{) 802} \\ \underline{75} \\ 52 \\ \underline{45} \\ 7 \end{array}$$

③

$$\begin{array}{r} 2 \\ 82 \overline{) 206} \\ \underline{164} \\ 42 \end{array}$$

④

$$\begin{array}{r} 21 \\ 13 \overline{) 275} \\ \underline{26} \\ 15 \\ \underline{13} \\ 2 \end{array}$$

⑤

$$\begin{array}{r} 6 \\ 86 \overline{) 550} \\ \underline{516} \\ 34 \end{array}$$

⑥

$$\begin{array}{r} 7 \\ 74 \overline{) 537} \\ \underline{518} \\ 19 \end{array}$$

⑦

$$\begin{array}{r} 36 \\ 14 \overline{) 504} \\ \underline{42} \\ 84 \\ \underline{84} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 30 \\ 25 \overline{) 756} \\ \underline{75} \\ 6 \end{array}$$

⑨

$$\begin{array}{r} 31 \\ 28 \overline{) 868} \\ \underline{84} \\ 28 \\ \underline{28} \\ 0 \end{array}$$

①

$$\begin{array}{r} 41 \\ 19 \overline{) 779} \\ \underline{76} \phantom{0} \\ 19 \\ \underline{19} \\ 0 \end{array}$$

②

$$\begin{array}{r} 7 \\ 21 \overline{) 158} \\ \underline{147} \\ 11 \end{array}$$

③

$$\begin{array}{r} 50 \\ 13 \overline{) 658} \\ \underline{65} \phantom{0} \\ 8 \end{array}$$

④

$$\begin{array}{r} 10 \\ 37 \overline{) 375} \\ \underline{37} \phantom{0} \\ 5 \end{array}$$

⑤

$$\begin{array}{r} 7 \\ 23 \overline{) 171} \\ \underline{161} \\ 10 \end{array}$$

⑥

$$\begin{array}{r} 20 \\ 11 \overline{) 224} \\ \underline{22} \phantom{0} \\ 4 \end{array}$$

⑦

$$\begin{array}{r} 60 \\ 14 \overline{) 853} \\ \underline{84} \phantom{0} \\ 13 \end{array}$$

⑧

$$\begin{array}{r} 29 \\ 19 \overline{) 551} \\ \underline{38} \phantom{0} \\ 171 \\ \underline{171} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 60 \\ 13 \overline{) 788} \\ \underline{78} \phantom{0} \\ 8 \end{array}$$

①

$$\begin{array}{r} 4 \\ 70 \overline{) 336} \\ \underline{280} \\ 56 \end{array}$$

②

$$\begin{array}{r} 35 \\ 22 \overline{) 775} \\ \underline{66} \\ 115 \\ \underline{110} \\ 5 \end{array}$$

③

$$\begin{array}{r} 30 \\ 11 \overline{) 338} \\ \underline{33} \\ 8 \end{array}$$

④

$$\begin{array}{r} 18 \\ 13 \overline{) 242} \\ \underline{13} \\ 112 \\ \underline{104} \\ 8 \end{array}$$

⑤

$$\begin{array}{r} 23 \\ 30 \overline{) 690} \\ \underline{60} \\ 90 \\ \underline{90} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 40 \\ 24 \overline{) 971} \\ \underline{96} \\ 11 \end{array}$$

⑦

$$\begin{array}{r} 13 \\ 18 \overline{) 251} \\ \underline{18} \\ 71 \\ \underline{54} \\ 17 \end{array}$$

⑧

$$\begin{array}{r} 60 \\ 15 \overline{) 901} \\ \underline{90} \\ 1 \end{array}$$

⑨

$$\begin{array}{r} 4 \\ 94 \overline{) 457} \\ \underline{376} \\ 81 \end{array}$$

①

$$\begin{array}{r} 35 \\ 18 \overline{) 636} \\ \underline{54} \phantom{0} \\ 96 \\ \underline{90} \\ 6 \end{array}$$

②

$$\begin{array}{r} 3 \\ 95 \overline{) 353} \\ \underline{285} \\ 68 \end{array}$$

③

$$\begin{array}{r} 12 \\ 33 \overline{) 399} \\ \underline{33} \phantom{0} \\ 69 \\ \underline{66} \\ 3 \end{array}$$

④

$$\begin{array}{r} 16 \\ 49 \overline{) 812} \\ \underline{49} \phantom{0} \\ 322 \\ \underline{294} \\ 28 \end{array}$$

⑤

$$\begin{array}{r} 10 \\ 36 \overline{) 378} \\ \underline{36} \phantom{0} \\ 18 \end{array}$$

⑥

$$\begin{array}{r} 8 \\ 16 \overline{) 134} \\ \underline{128} \\ 6 \end{array}$$

⑦

$$\begin{array}{r} 18 \\ 30 \overline{) 559} \\ \underline{30} \phantom{0} \\ 259 \\ \underline{240} \\ 19 \end{array}$$

⑧

$$\begin{array}{r} 2 \\ 44 \overline{) 113} \\ \underline{88} \\ 25 \end{array}$$

⑨

$$\begin{array}{r} 30 \\ 27 \overline{) 814} \\ \underline{81} \phantom{0} \\ 4 \end{array}$$

①

$$\begin{array}{r} 32 \\ 22 \overline{) 715} \\ \underline{66} \phantom{0} \\ 55 \\ \underline{44} \\ 11 \end{array}$$

②

$$\begin{array}{r} 5 \\ 81 \overline{) 419} \\ \underline{405} \\ 14 \end{array}$$

③

$$\begin{array}{r} 15 \\ 34 \overline{) 510} \\ \underline{34} \phantom{0} \\ 170 \\ \underline{170} \\ 0 \end{array}$$

④

$$\begin{array}{r} 60 \\ 12 \overline{) 723} \\ \underline{72} \phantom{0} \\ 3 \end{array}$$

⑤

$$\begin{array}{r} 32 \\ 30 \overline{) 960} \\ \underline{90} \phantom{0} \\ 60 \\ \underline{60} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 26 \\ 26 \overline{) 676} \\ \underline{52} \phantom{0} \\ 156 \\ \underline{156} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 12 \\ 21 \overline{) 252} \\ \underline{21} \phantom{0} \\ 42 \\ \underline{42} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 39 \\ 14 \overline{) 556} \\ \underline{42} \phantom{0} \\ 136 \\ \underline{126} \\ 10 \end{array}$$

⑨

$$\begin{array}{r} 47 \\ 19 \overline{) 893} \\ \underline{76} \phantom{0} \\ 133 \\ \underline{133} \\ 0 \end{array}$$

①

$$\begin{array}{r} 34 \\ 28 \overline{) 952} \\ \underline{84} \phantom{0} \\ 112 \\ \underline{112} \\ 0 \end{array}$$

②

$$\begin{array}{r} 2 \\ 99 \overline{) 234} \\ \underline{198} \\ 36 \end{array}$$

③

$$\begin{array}{r} 37 \\ 13 \overline{) 491} \\ \underline{39} \phantom{0} \\ 101 \\ \underline{91} \\ 10 \end{array}$$

④

$$\begin{array}{r} 9 \\ 67 \overline{) 610} \\ \underline{603} \\ 7 \end{array}$$

⑤

$$\begin{array}{r} 38 \\ 13 \overline{) 502} \\ \underline{39} \phantom{0} \\ 112 \\ \underline{104} \\ 8 \end{array}$$

⑥

$$\begin{array}{r} 52 \\ 15 \overline{) 793} \\ \underline{75} \phantom{0} \\ 43 \\ \underline{30} \\ 13 \end{array}$$

⑦

$$\begin{array}{r} 40 \\ 19 \overline{) 774} \\ \underline{76} \phantom{0} \\ 14 \end{array}$$

⑧

$$\begin{array}{r} 6 \\ 39 \overline{) 241} \\ \underline{234} \\ 7 \end{array}$$

⑨

$$\begin{array}{r} 73 \\ 12 \overline{) 885} \\ \underline{84} \phantom{0} \\ 45 \\ \underline{36} \\ 9 \end{array}$$

①

$$\begin{array}{r} 5 \\ 37 \overline{) 203} \\ \underline{185} \\ 18 \end{array}$$

②

$$\begin{array}{r} 28 \\ 13 \overline{) 375} \\ \underline{26} \\ 115 \\ \underline{104} \\ 11 \end{array}$$

③

$$\begin{array}{r} 53 \\ 14 \overline{) 752} \\ \underline{70} \\ 52 \\ \underline{42} \\ 10 \end{array}$$

④

$$\begin{array}{r} 20 \\ 38 \overline{) 780} \\ \underline{76} \\ 20 \end{array}$$

⑤

$$\begin{array}{r} 7 \\ 53 \overline{) 381} \\ \underline{371} \\ 10 \end{array}$$

⑥

$$\begin{array}{r} 8 \\ 93 \overline{) 836} \\ \underline{744} \\ 92 \end{array}$$

⑦

$$\begin{array}{r} 28 \\ 28 \overline{) 784} \\ \underline{56} \\ 224 \\ \underline{224} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 51 \\ 13 \overline{) 675} \\ \underline{65} \\ 25 \\ \underline{13} \\ 12 \end{array}$$

⑨

$$\begin{array}{r} 28 \\ 17 \overline{) 476} \\ \underline{34} \\ 136 \\ \underline{136} \\ 0 \end{array}$$

①

$$\begin{array}{r} 21 \\ 25 \overline{) 525} \\ \underline{50} \phantom{0} \\ 25 \\ \underline{25} \\ 0 \end{array}$$

②

$$\begin{array}{r} 10 \\ 18 \overline{) 191} \\ \underline{18} \phantom{0} \\ 11 \end{array}$$

③

$$\begin{array}{r} 21 \\ 33 \overline{) 710} \\ \underline{66} \phantom{0} \\ 50 \\ \underline{33} \\ 17 \end{array}$$

④

$$\begin{array}{r} 18 \\ 38 \overline{) 710} \\ \underline{38} \phantom{0} \\ 330 \\ \underline{304} \\ 26 \end{array}$$

⑤

$$\begin{array}{r} 18 \\ 42 \overline{) 797} \\ \underline{42} \phantom{0} \\ 377 \\ \underline{336} \\ 41 \end{array}$$

⑥

$$\begin{array}{r} 9 \\ 33 \overline{) 299} \\ \underline{297} \\ 2 \end{array}$$

⑦

$$\begin{array}{r} 6 \\ 57 \overline{) 389} \\ \underline{342} \\ 47 \end{array}$$

⑧

$$\begin{array}{r} 9 \\ 31 \overline{) 308} \\ \underline{279} \\ 29 \end{array}$$

⑨

$$\begin{array}{r} 27 \\ 12 \overline{) 327} \\ \underline{24} \phantom{0} \\ 87 \\ \underline{84} \\ 3 \end{array}$$

①

$$\begin{array}{r} 6 \\ 99 \overline{) 603} \\ \underline{594} \\ 9 \end{array}$$

②

$$\begin{array}{r} 18 \\ 24 \overline{) 439} \\ \underline{24} \\ 199 \\ \underline{192} \\ 7 \end{array}$$

③

$$\begin{array}{r} 31 \\ 28 \overline{) 881} \\ \underline{84} \\ 41 \\ \underline{28} \\ 13 \end{array}$$

④

$$\begin{array}{r} 53 \\ 15 \overline{) 800} \\ \underline{75} \\ 50 \\ \underline{45} \\ 5 \end{array}$$

⑤

$$\begin{array}{r} 26 \\ 29 \overline{) 754} \\ \underline{58} \\ 174 \\ \underline{174} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 18 \\ 30 \overline{) 567} \\ \underline{30} \\ 267 \\ \underline{240} \\ 27 \end{array}$$

⑦

$$\begin{array}{r} 5 \\ 23 \overline{) 137} \\ \underline{115} \\ 22 \end{array}$$

⑧

$$\begin{array}{r} 37 \\ 11 \overline{) 407} \\ \underline{33} \\ 77 \\ \underline{77} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 12 \\ 19 \overline{) 228} \\ \underline{19} \\ 38 \\ \underline{38} \\ 0 \end{array}$$

①

$$\begin{array}{r} 20 \\ 28 \overline{) 580} \\ \underline{56} \phantom{0} \\ 20 \phantom{0} \end{array}$$

②

$$\begin{array}{r} 49 \\ 11 \overline{) 539} \\ \underline{44} \phantom{0} \\ 99 \phantom{0} \\ \underline{99} \phantom{0} \\ 0 \phantom{0} \end{array}$$

③

$$\begin{array}{r} 40 \\ 20 \overline{) 805} \\ \underline{80} \phantom{0} \\ 5 \phantom{0} \end{array}$$

④

$$\begin{array}{r} 50 \\ 18 \overline{) 903} \\ \underline{90} \phantom{0} \\ 3 \phantom{0} \end{array}$$

⑤

$$\begin{array}{r} 20 \\ 35 \overline{) 714} \\ \underline{70} \phantom{0} \\ 14 \phantom{0} \end{array}$$

⑥

$$\begin{array}{r} 7 \\ 92 \overline{) 648} \\ \underline{644} \phantom{0} \\ 4 \phantom{0} \end{array}$$

⑦

$$\begin{array}{r} 2 \\ 90 \overline{) 227} \\ \underline{180} \phantom{0} \\ 47 \phantom{0} \end{array}$$

⑧

$$\begin{array}{r} 52 \\ 12 \overline{) 624} \\ \underline{60} \phantom{0} \\ 24 \phantom{0} \\ \underline{24} \phantom{0} \\ 0 \phantom{0} \end{array}$$

⑨

$$\begin{array}{r} 6 \\ 20 \overline{) 132} \\ \underline{120} \phantom{0} \\ 12 \phantom{0} \end{array}$$

①

$$\begin{array}{r} 19 \\ 24 \overline{) 478} \\ \underline{24} \phantom{0} \\ 238 \\ \underline{216} \\ 22 \end{array}$$

②

$$\begin{array}{r} 80 \\ 12 \overline{) 970} \\ \underline{96} \phantom{0} \\ 10 \end{array}$$

③

$$\begin{array}{r} 7 \\ 55 \overline{) 423} \\ \underline{385} \\ 38 \end{array}$$

④

$$\begin{array}{r} 5 \\ 85 \overline{) 485} \\ \underline{425} \\ 60 \end{array}$$

⑤

$$\begin{array}{r} 53 \\ 15 \overline{) 795} \\ \underline{75} \phantom{0} \\ 45 \\ \underline{45} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 3 \\ 66 \overline{) 243} \\ \underline{198} \\ 45 \end{array}$$

⑦

$$\begin{array}{r} 15 \\ 44 \overline{) 660} \\ \underline{44} \phantom{0} \\ 220 \\ \underline{220} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 31 \\ 23 \overline{) 726} \\ \underline{69} \phantom{0} \\ 36 \\ \underline{23} \\ 13 \end{array}$$

⑨

$$\begin{array}{r} 3 \\ 48 \overline{) 152} \\ \underline{144} \\ 8 \end{array}$$

①

$$\begin{array}{r} 2 \\ 68 \overline{) 152} \\ \underline{136} \\ 16 \end{array}$$

②

$$\begin{array}{r} 31 \\ 13 \overline{) 403} \\ \underline{39} \\ 13 \\ \underline{13} \\ 0 \end{array}$$

③

$$\begin{array}{r} 30 \\ 32 \overline{) 986} \\ \underline{96} \\ 26 \end{array}$$

④

$$\begin{array}{r} 10 \\ 47 \overline{) 503} \\ \underline{47} \\ 33 \end{array}$$

⑤

$$\begin{array}{r} 62 \\ 14 \overline{) 868} \\ \underline{84} \\ 28 \\ \underline{28} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 27 \\ 29 \overline{) 811} \\ \underline{58} \\ 231 \\ \underline{203} \\ 28 \end{array}$$

⑦

$$\begin{array}{r} 3 \\ 30 \overline{) 112} \\ \underline{90} \\ 22 \end{array}$$

⑧

$$\begin{array}{r} 18 \\ 32 \overline{) 597} \\ \underline{32} \\ 277 \\ \underline{256} \\ 21 \end{array}$$

⑨

$$\begin{array}{r} 9 \\ 25 \overline{) 232} \\ \underline{225} \\ 7 \end{array}$$

①

$$\begin{array}{r} 36 \\ 20 \overline{) 723} \\ \underline{60} \\ 123 \\ \underline{120} \\ 3 \end{array}$$

②

$$\begin{array}{r} 18 \\ 48 \overline{) 864} \\ \underline{48} \\ 384 \\ \underline{384} \\ 0 \end{array}$$

③

$$\begin{array}{r} 10 \\ 47 \overline{) 473} \\ \underline{47} \\ 3 \end{array}$$

④

$$\begin{array}{r} 8 \\ 91 \overline{) 784} \\ \underline{728} \\ 56 \end{array}$$

⑤

$$\begin{array}{r} 5 \\ 17 \overline{) 101} \\ \underline{85} \\ 16 \end{array}$$

⑥

$$\begin{array}{r} 18 \\ 16 \overline{) 288} \\ \underline{16} \\ 128 \\ \underline{128} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 13 \\ 37 \overline{) 503} \\ \underline{37} \\ 133 \\ \underline{111} \\ 22 \end{array}$$

⑧

$$\begin{array}{r} 13 \\ 44 \overline{) 599} \\ \underline{44} \\ 159 \\ \underline{132} \\ 27 \end{array}$$

⑨

$$\begin{array}{r} 39 \\ 20 \overline{) 780} \\ \underline{60} \\ 180 \\ \underline{180} \\ 0 \end{array}$$

①

$$\begin{array}{r} 4 \\ 44 \overline{) 190} \\ \underline{176} \\ 14 \end{array}$$

②

$$\begin{array}{r} 10 \\ 25 \overline{) 267} \\ \underline{25} \\ 17 \end{array}$$

③

$$\begin{array}{r} 31 \\ 11 \overline{) 344} \\ \underline{33} \\ 14 \\ \underline{11} \\ 3 \end{array}$$

④

$$\begin{array}{r} 6 \\ 43 \overline{) 265} \\ \underline{258} \\ 7 \end{array}$$

⑤

$$\begin{array}{r} 20 \\ 17 \overline{) 347} \\ \underline{34} \\ 7 \end{array}$$

⑥

$$\begin{array}{r} 15 \\ 24 \overline{) 366} \\ \underline{24} \\ 126 \\ \underline{120} \\ 6 \end{array}$$

⑦

$$\begin{array}{r} 25 \\ 15 \overline{) 375} \\ \underline{30} \\ 75 \\ \underline{75} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 23 \\ 12 \overline{) 276} \\ \underline{24} \\ 36 \\ \underline{36} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 4 \\ 26 \overline{) 115} \\ \underline{104} \\ 11 \end{array}$$

①

$$\begin{array}{r} 14 \\ 19 \overline{) 266} \\ \underline{19} \phantom{0} \\ 76 \\ \underline{76} \\ 0 \end{array}$$

②

$$\begin{array}{r} 8 \\ 75 \overline{) 615} \\ \underline{600} \\ 15 \end{array}$$

③

$$\begin{array}{r} 6 \\ 85 \overline{) 544} \\ \underline{510} \\ 34 \end{array}$$

④

$$\begin{array}{r} 38 \\ 16 \overline{) 619} \\ \underline{48} \phantom{0} \\ 139 \\ \underline{128} \\ 11 \end{array}$$

⑤

$$\begin{array}{r} 7 \\ 64 \overline{) 452} \\ \underline{448} \\ 4 \end{array}$$

⑥

$$\begin{array}{r} 3 \\ 62 \overline{) 201} \\ \underline{186} \\ 15 \end{array}$$

⑦

$$\begin{array}{r} 10 \\ 15 \overline{) 162} \\ \underline{15} \phantom{0} \\ 12 \end{array}$$

⑧

$$\begin{array}{r} 20 \\ 42 \overline{) 870} \\ \underline{84} \phantom{0} \\ 30 \end{array}$$

⑨

$$\begin{array}{r} 6 \\ 83 \overline{) 540} \\ \underline{498} \\ 42 \end{array}$$

①

$$\begin{array}{r} 3 \\ 55 \overline{) 186} \\ \underline{165} \\ 21 \end{array}$$

②

$$\begin{array}{r} 10 \\ 44 \overline{) 465} \\ \underline{44} \\ 25 \end{array}$$

③

$$\begin{array}{r} 7 \\ 72 \overline{) 521} \\ \underline{504} \\ 17 \end{array}$$

④

$$\begin{array}{r} 40 \\ 22 \overline{) 881} \\ \underline{88} \\ 1 \end{array}$$

⑤

$$\begin{array}{r} 7 \\ 73 \overline{) 581} \\ \underline{511} \\ 70 \end{array}$$

⑥

$$\begin{array}{r} 12 \\ 23 \overline{) 276} \\ \underline{23} \\ 46 \\ \underline{46} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 30 \\ 14 \overline{) 422} \\ \underline{42} \\ 2 \end{array}$$

⑧

$$\begin{array}{r} 35 \\ 21 \overline{) 735} \\ \underline{63} \\ 105 \\ \underline{105} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 10 \\ 37 \overline{) 389} \\ \underline{37} \\ 19 \end{array}$$

①

$$\begin{array}{r} 14 \\ 28 \overline{) 412} \\ \underline{28} \phantom{0} \\ 132 \\ \underline{112} \\ 20 \end{array}$$

②

$$\begin{array}{r} 20 \\ 13 \overline{) 263} \\ \underline{26} \phantom{0} \\ 3 \end{array}$$

③

$$\begin{array}{r} 55 \\ 18 \overline{) 990} \\ \underline{90} \phantom{0} \\ 90 \\ \underline{90} \\ 0 \end{array}$$

④

$$\begin{array}{r} 16 \\ 44 \overline{) 722} \\ \underline{44} \phantom{0} \\ 282 \\ \underline{264} \\ 18 \end{array}$$

⑤

$$\begin{array}{r} 68 \\ 13 \overline{) 884} \\ \underline{78} \phantom{0} \\ 104 \\ \underline{104} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 20 \\ 39 \overline{) 808} \\ \underline{78} \phantom{0} \\ 28 \end{array}$$

⑦

$$\begin{array}{r} 4 \\ 24 \overline{) 106} \\ \underline{96} \phantom{0} \\ 10 \end{array}$$

⑧

$$\begin{array}{r} 23 \\ 32 \overline{) 744} \\ \underline{64} \phantom{0} \\ 104 \\ \underline{96} \phantom{0} \\ 8 \end{array}$$

⑨

$$\begin{array}{r} 26 \\ 17 \overline{) 442} \\ \underline{34} \phantom{0} \\ 102 \\ \underline{102} \\ 0 \end{array}$$

①

$$\begin{array}{r} 27 \\ 25 \overline{) 688} \\ \underline{50} \\ 188 \\ \underline{175} \\ 13 \end{array}$$

②

$$\begin{array}{r} 4 \\ 71 \overline{) 335} \\ \underline{284} \\ 51 \end{array}$$

③

$$\begin{array}{r} 57 \\ 16 \overline{) 925} \\ \underline{80} \\ 125 \\ \underline{112} \\ 13 \end{array}$$

④

$$\begin{array}{r} 27 \\ 15 \overline{) 405} \\ \underline{30} \\ 105 \\ \underline{105} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 56 \\ 12 \overline{) 672} \\ \underline{60} \\ 72 \\ \underline{72} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 40 \\ 21 \overline{) 860} \\ \underline{84} \\ 20 \end{array}$$

⑦

$$\begin{array}{r} 10 \\ 30 \overline{) 301} \\ \underline{30} \\ 1 \end{array}$$

⑧

$$\begin{array}{r} 28 \\ 31 \overline{) 868} \\ \underline{62} \\ 248 \\ \underline{248} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 5 \\ 52 \overline{) 287} \\ \underline{260} \\ 27 \end{array}$$

①

$$\begin{array}{r} 31 \\ 18 \overline{) 558} \\ \underline{54} \phantom{0} \\ 18 \\ \underline{18} \\ 0 \end{array}$$

②

$$\begin{array}{r} 66 \\ 11 \overline{) 735} \\ \underline{66} \phantom{0} \\ 75 \\ \underline{66} \\ 9 \end{array}$$

③

$$\begin{array}{r} 20 \\ 38 \overline{) 795} \\ \underline{76} \phantom{0} \\ 35 \end{array}$$

④

$$\begin{array}{r} 60 \\ 14 \overline{) 848} \\ \underline{84} \phantom{0} \\ 8 \end{array}$$

⑤

$$\begin{array}{r} 6 \\ 57 \overline{) 368} \\ \underline{342} \\ 26 \end{array}$$

⑥

$$\begin{array}{r} 14 \\ 19 \overline{) 268} \\ \underline{19} \phantom{0} \\ 78 \\ \underline{76} \\ 2 \end{array}$$

⑦

$$\begin{array}{r} 16 \\ 31 \overline{) 499} \\ \underline{31} \phantom{0} \\ 189 \\ \underline{186} \\ 3 \end{array}$$

⑧

$$\begin{array}{r} 15 \\ 26 \overline{) 413} \\ \underline{26} \phantom{0} \\ 153 \\ \underline{130} \\ 23 \end{array}$$

⑨

$$\begin{array}{r} 18 \\ 44 \overline{) 792} \\ \underline{44} \phantom{0} \\ 352 \\ \underline{352} \\ 0 \end{array}$$

①

$$\begin{array}{r} 10 \\ 23 \overline{) 249} \\ \underline{23} \\ 19 \end{array}$$

②

$$\begin{array}{r} 51 \\ 13 \overline{) 663} \\ \underline{65} \\ 13 \\ \underline{13} \\ 0 \end{array}$$

③

$$\begin{array}{r} 11 \\ 13 \overline{) 147} \\ \underline{13} \\ 17 \\ \underline{13} \\ 4 \end{array}$$

④

$$\begin{array}{r} 9 \\ 45 \overline{) 424} \\ \underline{405} \\ 19 \end{array}$$

⑤

$$\begin{array}{r} 51 \\ 18 \overline{) 926} \\ \underline{90} \\ 26 \\ \underline{18} \\ 8 \end{array}$$

⑥

$$\begin{array}{r} 5 \\ 63 \overline{) 338} \\ \underline{315} \\ 23 \end{array}$$

⑦

$$\begin{array}{r} 4 \\ 60 \overline{) 262} \\ \underline{240} \\ 22 \end{array}$$

⑧

$$\begin{array}{r} 20 \\ 38 \overline{) 784} \\ \underline{76} \\ 24 \end{array}$$

⑨

$$\begin{array}{r} 8 \\ 25 \overline{) 220} \\ \underline{200} \\ 20 \end{array}$$

①

$$\begin{array}{r} 20 \\ 23 \overline{) 469} \\ \underline{46} \phantom{0} \\ 9 \end{array}$$

②

$$\begin{array}{r} 56 \\ 14 \overline{) 784} \\ \underline{70} \phantom{0} \\ 84 \\ \underline{84} \\ 0 \end{array}$$

③

$$\begin{array}{r} 44 \\ 12 \overline{) 537} \\ \underline{48} \phantom{0} \\ 57 \\ \underline{48} \\ 9 \end{array}$$

④

$$\begin{array}{r} 31 \\ 32 \overline{) 996} \\ \underline{96} \phantom{0} \\ 36 \\ \underline{32} \\ 4 \end{array}$$

⑤

$$\begin{array}{r} 19 \\ 44 \overline{) 862} \\ \underline{44} \phantom{0} \\ 422 \\ \underline{396} \\ 26 \end{array}$$

⑥

$$\begin{array}{r} 2 \\ 86 \overline{) 207} \\ \underline{172} \\ 35 \end{array}$$

⑦

$$\begin{array}{r} 51 \\ 18 \overline{) 930} \\ \underline{90} \phantom{0} \\ 30 \\ \underline{18} \\ 12 \end{array}$$

⑧

$$\begin{array}{r} 30 \\ 15 \overline{) 454} \\ \underline{45} \phantom{0} \\ 4 \end{array}$$

⑨

$$\begin{array}{r} 12 \\ 30 \overline{) 374} \\ \underline{30} \phantom{0} \\ 74 \\ \underline{60} \\ 14 \end{array}$$

①

$$\begin{array}{r} 7 \\ 92 \overline{) 684} \\ \underline{644} \\ 40 \end{array}$$

②

$$\begin{array}{r} 21 \\ 11 \overline{) 231} \\ \underline{22} \\ 11 \\ \underline{11} \\ 0 \end{array}$$

③

$$\begin{array}{r} 7 \\ 29 \overline{) 208} \\ \underline{203} \\ 5 \end{array}$$

④

$$\begin{array}{r} 4 \\ 66 \overline{) 319} \\ \underline{264} \\ 55 \end{array}$$

⑤

$$\begin{array}{r} 51 \\ 17 \overline{) 867} \\ \underline{85} \\ 17 \\ \underline{17} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 10 \\ 12 \overline{) 131} \\ \underline{12} \\ 11 \end{array}$$

⑦

$$\begin{array}{r} 3 \\ 41 \overline{) 163} \\ \underline{123} \\ 40 \end{array}$$

⑧

$$\begin{array}{r} 5 \\ 35 \overline{) 185} \\ \underline{175} \\ 10 \end{array}$$

⑨

$$\begin{array}{r} 3 \\ 67 \overline{) 234} \\ \underline{201} \\ 33 \end{array}$$

①

$$\begin{array}{r} 10 \\ 45 \overline{) 467} \\ \underline{45} \phantom{0} \\ 17 \end{array}$$

②

$$\begin{array}{r} 24 \\ 35 \overline{) 872} \\ \underline{70} \phantom{0} \\ 172 \\ \underline{140} \phantom{0} \\ 32 \end{array}$$

③

$$\begin{array}{r} 45 \\ 13 \overline{) 585} \\ \underline{52} \phantom{0} \\ 65 \\ \underline{65} \\ 0 \end{array}$$

④

$$\begin{array}{r} 30 \\ 14 \overline{) 427} \\ \underline{42} \phantom{0} \\ 7 \end{array}$$

⑤

$$\begin{array}{r} 6 \\ 84 \overline{) 561} \\ \underline{504} \phantom{0} \\ 57 \end{array}$$

⑥

$$\begin{array}{r} 15 \\ 38 \overline{) 570} \\ \underline{38} \phantom{0} \\ 190 \\ \underline{190} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 70 \\ 14 \overline{) 989} \\ \underline{98} \phantom{0} \\ 9 \end{array}$$

⑧

$$\begin{array}{r} 24 \\ 35 \overline{) 840} \\ \underline{70} \phantom{0} \\ 140 \\ \underline{140} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 14 \\ 15 \overline{) 210} \\ \underline{15} \phantom{0} \\ 60 \\ \underline{60} \\ 0 \end{array}$$

①

$$\begin{array}{r} 40 \\ 19 \overline{) 764} \\ \underline{76} \phantom{0} \\ 4 \phantom{0} \end{array}$$

②

$$\begin{array}{r} 41 \\ 16 \overline{) 656} \\ \underline{64} \phantom{0} \\ 16 \\ \underline{16} \\ 0 \end{array}$$

③

$$\begin{array}{r} 30 \\ 16 \overline{) 484} \\ \underline{48} \phantom{0} \\ 4 \phantom{0} \end{array}$$

④

$$\begin{array}{r} 7 \\ 19 \overline{) 145} \\ \underline{133} \\ 12 \phantom{0} \end{array}$$

⑤

$$\begin{array}{r} 30 \\ 30 \overline{) 921} \\ \underline{90} \phantom{0} \\ 21 \phantom{0} \end{array}$$

⑥

$$\begin{array}{r} 41 \\ 20 \overline{) 820} \\ \underline{80} \phantom{0} \\ 20 \\ \underline{20} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 38 \\ 16 \overline{) 621} \\ \underline{48} \phantom{0} \\ 141 \\ \underline{128} \\ 13 \phantom{0} \end{array}$$

⑧

$$\begin{array}{r} 81 \\ 11 \overline{) 891} \\ \underline{88} \phantom{0} \\ 11 \\ \underline{11} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 35 \\ 13 \overline{) 462} \\ \underline{39} \phantom{0} \\ 72 \\ \underline{65} \\ 7 \phantom{0} \end{array}$$

①

$$\begin{array}{r} 20 \\ 43 \overline{) 870} \\ \underline{86} \\ 10 \end{array}$$

②

$$\begin{array}{r} 7 \\ 21 \overline{) 156} \\ \underline{147} \\ 9 \end{array}$$

③

$$\begin{array}{r} 14 \\ 39 \overline{) 581} \\ \underline{39} \\ 191 \\ \underline{156} \\ 35 \end{array}$$

④

$$\begin{array}{r} 20 \\ 13 \overline{) 264} \\ \underline{26} \\ 4 \end{array}$$

⑤

$$\begin{array}{r} 10 \\ 49 \overline{) 499} \\ \underline{49} \\ 9 \end{array}$$

⑥

$$\begin{array}{r} 40 \\ 14 \overline{) 563} \\ \underline{56} \\ 3 \end{array}$$

⑦

$$\begin{array}{r} 50 \\ 16 \overline{) 802} \\ \underline{80} \\ 2 \end{array}$$

⑧

$$\begin{array}{r} 73 \\ 11 \overline{) 811} \\ \underline{77} \\ 41 \\ \underline{33} \\ 8 \end{array}$$

⑨

$$\begin{array}{r} 5 \\ 97 \overline{) 529} \\ \underline{485} \\ 44 \end{array}$$

①

$$\begin{array}{r} 54 \\ 13 \overline{)702} \\ \underline{65} \phantom{0} \\ 52 \\ \underline{52} \\ 0 \end{array}$$

②

$$\begin{array}{r} 10 \\ 44 \overline{)464} \\ \underline{44} \phantom{0} \\ 24 \end{array}$$

③

$$\begin{array}{r} 36 \\ 20 \overline{)735} \\ \underline{60} \phantom{0} \\ 135 \\ \underline{120} \phantom{0} \\ 15 \end{array}$$

④

$$\begin{array}{r} 39 \\ 13 \overline{)513} \\ \underline{39} \phantom{0} \\ 123 \\ \underline{117} \phantom{0} \\ 6 \end{array}$$

⑤

$$\begin{array}{r} 26 \\ 38 \overline{)988} \\ \underline{76} \phantom{0} \\ 228 \\ \underline{228} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 60 \\ 15 \overline{)910} \\ \underline{90} \phantom{0} \\ 10 \end{array}$$

⑦

$$\begin{array}{r} 38 \\ 16 \overline{)616} \\ \underline{48} \phantom{0} \\ 136 \\ \underline{128} \phantom{0} \\ 8 \end{array}$$

⑧

$$\begin{array}{r} 55 \\ 16 \overline{)882} \\ \underline{80} \phantom{0} \\ 82 \\ \underline{80} \phantom{0} \\ 2 \end{array}$$

⑨

$$\begin{array}{r} 30 \\ 33 \overline{)992} \\ \underline{99} \phantom{0} \\ 2 \end{array}$$

①

$$\begin{array}{r} 8 \\ 52 \overline{) 438} \\ \underline{416} \\ 22 \end{array}$$

②

$$\begin{array}{r} 4 \\ 44 \overline{) 196} \\ \underline{176} \\ 20 \end{array}$$

③

$$\begin{array}{r} 20 \\ 23 \overline{) 465} \\ \underline{46} \\ 5 \end{array}$$

④

$$\begin{array}{r} 56 \\ 16 \overline{) 896} \\ \underline{80} \\ 96 \\ \underline{96} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 20 \\ 19 \overline{) 391} \\ \underline{38} \\ 11 \end{array}$$

⑥

$$\begin{array}{r} 6 \\ 88 \overline{) 556} \\ \underline{528} \\ 28 \end{array}$$

⑦

$$\begin{array}{r} 20 \\ 35 \overline{) 719} \\ \underline{70} \\ 19 \end{array}$$

⑧

$$\begin{array}{r} 13 \\ 48 \overline{) 663} \\ \underline{48} \\ 183 \\ \underline{144} \\ 39 \end{array}$$

⑨

$$\begin{array}{r} 18 \\ 37 \overline{) 691} \\ \underline{37} \\ 321 \\ \underline{296} \\ 25 \end{array}$$